6 + | = 8 + 2 =

| + 8= 3+ 3=
5+ 4= 7+ 2=
|+ 0= 9+ 1=

63 ECKIOS



0 + 3 = 5 + 2 =
7+ 3 = 2 + 4 =
4L + 3 = 2 + 8 =
5 + 0 = 2 + | =

63 ECKIOS



3+6= 0+ 2=
3+5= 5+ | =
2 +2= T4 1=
6 +2= 2+ 7=

63 ECKIOS



6 + 3 = 5 + 5 =

3 4+ 4 = | + 7 =
b+ 0 = 2 + 8 =
g+ | = 2 + 6 =

63 ECKIOS



2 + 3 = T+ 2 =

34 1= 6+ 4=
54+3= 34 17=
2+ 8= 4 +5=

63 ECKIOS



2 +2= 4+ 2=
T7+2= 10+ 0=
3 + 3 = | + 8 =
6 + 4 = 5 + 3 =

63 ECKIOS



|+ 1 = | + 6 =

|l +2= 1+ 7=
| +3= | +8=
|+ 4= | +9-=

63 ECKIOS



b +3= 6+ 2=
3 + 2 = | + 7 =
8§ +2 = 34 3=
5+ 4= 04 9=

63 ECKIOS



5 + 3 = 0 + 0 =

b+ 4 = 2 + 2 =
| + 3 = 7 + 3 =
6 + 4 = b + 3 =

63 ECKIOS



